
Product.: Lang

K2001 Frankfurt C
2. Seite

Belső használatra !

175633-029B

22

21

2001-106
2003-005
M5 Alátét

M5x16 Hlf csavar

1982-001

1982-011

2003-020

2001-042

M6 Íves rugós alátét

M6x16 Df csavar

2001-015
 M5x6 Bkny
hernyócsavar

20 5833-012

205833-012

15 5611-048

19 5311-289

18 5311-288

21 1982-011

221982-001

22 1982-001

221982-001
235540-084A

24 6611-096

25 6611-158

5611-049 16

2001-345
M5x18 Hlf csavar

2003-005
M5 Alátét

M8 Rugós alátét
2003-020

M8 Hl Anya
2002-007



Product.: Lang

K2001 Frankfurt C
3. Seite

Belső használatra !

1. 15.
Reihenfolge:

Lage des Feuerablenkrahmen

35

34

31
30 29

30 31

6081-155C

6081-155C

6081-154C 30

336081-320

6081-153C

32

6081-321

6081-158A

28

27

6.

5.4.

3. 6081-319

6081-154C

6081-157A 26

29
30

7.

1.

13.

9.
10.

12.

11.

2.

14.

8.15.

5490-019

4725-061

Feuerraumauskleidung
(9900-382)

6081-157A         1 Stück
6081-158A         1 Stück
6081-321            1 Stück
6081-153C         2 Stück
6081-154C         4 Stück
6081-155C         2 Stück
6081-319           1 Stück
6081-320           1 Stück



Product.: Lang

K2001 Frankfurt C
4. Seite

Belső használatra !
9 4111-041

M8 Alátét
2003-008

1982-019

M8 Alátét
2003-008

M8 Hl anya

M8x16 Hlf csavar
2001-062

2002-007

37

3490-002A6

M8x25 Hlf csavar
2001-065

1982-0197

364111-001

M8 Hl anya
2002-007

M6x10 Lf csavar
2001-222

109900-381


